

# Fax

То	Company Announcements Office
Company	Australian Stock Exchange Ltd
Fax Number	1300 135 638
From	Jessica Cirillo
Date	5/21/2013
Pages	5
Subject	ASIC Form 604 – JB Hi-Fi Ltd

UniSuper Limited Head Office Level 35, 385 Bourke Street Melbourne Victoria 3000

Telephone 03 9910 6100 Fax 03 9910 6141 enquiry@unisuper.com.au www.unisuper.com.au

Administrator UniSuper Management Pty Ltd ABN 91 006 961 799 Australian Financial Services Licence No. 235907

Trustee UniSuper Limited ABN 54 006 027 121

Fund ABN 91 385 943 850

## Dear Sir/Madam,

I attach the notice regarding our change in substantial shareholding, signed by our Company Secretary Kevin Keenan. Please note that the securities are held by National Nominees Limited as custodian for UniSuper Limited. We received notification of this change on Monday 20<sup>th</sup> May. Please note that various fund managers hold the shares as investment manager for UniSuper Ltd. Details are attached.

If you have any queries please contact me.

Yours sincerely,

Jessica Cirillo

Investment Accountant

604 page 1/2 75 July 2001

## Form 604

Corporations Act 2001 Section 671B

## Notice of change of interests of substantial holder

To Company Name/Scheme JB Hi-Fi Limited

ACN/ARSN 093 220 136

#### 1. Details of substantial holder(1)

Name National Nominees as custodian for UniSuper Ltd
ACN/ARSN (if applicable)

There was a change in the interests of the

substantial holder on 15 / 05 / 2013

The previous notice was given to the company on 01 / 11 / 2012

The previous notice was dated

01 /11 /2012

#### 2. Previous and present voling power

The total number of votes attached to all the voting shares in the company or voting interests in the scheme that the substantial holder or an associate (2) had a relevant interest (3) in when last required, and when now required, to give a substantial holding notice to the company or scheme, are as follows:

Class of securities (4)	Previous notice		Present notice	
	Person's votes	Voting power (5)	Person's votes	Voting power (5)
Ord Fully Paid	5,020,304	5.08%	6,037,016	6.10%
-				<del>-</del>

#### 3. Changes in relevant interests

Particulars of each change in, or change in the nature of, a relevant interest of the substantial holder or an associate in voting securities of the company or scheme, since the substantial holder was last required to give a substantial holding notice to the company or scheme are as follows:

Date of change	Person whose relevant interest changed	Nature of change (6)	Consideration given in relation to change (7)	Class and number of securities affected	Person's votes affected
	Refer to Appendix A		•		

### 4. Present refevant interests

Particulars of each relevant interest of the substantial holder in voting securities after the change are as follows:

Holder of relevant interest	Registered holder of securities	Person entitled to be registered as holder (8)	Nature of relevant Interest (6)	Class and number of securities	Person's votes
	Refer to Appendix 8		,		

604 page 2/2 15 July 2001

#### 5. Changes in association

The persons who have become associates (2) of, ceased to be associates of, or have changed the nature of their association (9) with, the substantial holder in relation to voting interests in the company or scheme are as follows:

Name and ACN/ARSN (if applicable)	Nature of association

#### 6. Addresses

The addresses of persons named in this form are as follows:

Name	Address
UniSuper Ltd	Level 35, 385 Bourke St Melbourne, VIC 3000
National Nomines Ltd	500 Bourke St Melbourne, VIC 3000

#### Signature

print name

Keenan

capacity Company Secretary

date 2 1/05/2013

sign here

#### DIRECTIONS

- (1) If there are a number of substantial holders with similar or related relevant interests (eg. a corporation and its related corporations, or the manager and trustee of an equity trust), the names could be included in an annexure to the form. If the relevant interests of a group of persons are essentially similar, they may be referred to throughout the form as a specifically named group if the membership of each group, with the names and addresses of members is clearly set out in paragraph 6 of the form.
- (2) See the definition of "associate" in section 9 of the Corporations Act 2001.
- (3) See the definition of "relevant Interest" in sections 608 and 671B(7) of the Corporations Act 2001.
- (4) The voting shares of a company constitute one class unless divided into separate classes.

Kevin

- (5) The person's votes divided by the total votes in the body corporate or scheme multiplied by 100.
- (6) include details of:
  - (a) any relevant agreement or other circumstances because of which the change in relevant interest occurred. If subsection 6718(4) applies, a copy of any document setting out the terms of any relevant agreement, and a statement by the person giving full and accurate details of any contract, scheme or arrangement, must accompany this form, together with a written statement certifying this contract, scheme or arrangement; and
  - (b) any qualification of the power of a person to exercise, control the exercise of, or influence the exercise of, the voting powers or disposal of the securities to which the relevant interest relates (indicating clearly the particular securities to which the qualification applies).

See the definition of "relevant agreement" in section 9 of the Corporations Act 2001.

- (7) Details of the consideration must include any and all benefits, money and other, that any person from whom a relevant interest was acquired has, or may, become entitled to receive in relation to that acquisition. Details must be included even if the benefit is conditional on the happening or not of a contingency. Details must be included of any benefit paid on behalf of the substantial holder or its associate in relation to the acquisitions, even if they are not paid directly to the person from whom the relevant interest was acquired.
- (6) If the substantial holder is unable to determine the identity of the person (eg. if the relevant interest arises because of an option) write "unknown".
- (9) Give details, if appropriate, of the present association and any change in that association since the last substantial holding notice.

Appendi	T	γ <u> </u>						1
TYPE	l Leiter	SECURITY	SECURITY NAME	BROKER	SETTLE	UNITS	PRIGE/YIELD	COST(NATIVE)
OS-PUR	1406585	7	JB HI-FI LIMITED	UBSAU	19/11/2012		10.1914	7
OS~PUR	1406264	ЈВМ	JB HI-FI LIMITED	CITIGR	19/11/2012	12,936	10.1914	132133.7
OS-PUR	1406653		JB HJ-FI LIMITED	UBSAU	20/11/2012		10.4789	
OS-PUR	1410413		JB HI-FI LIMITED	TRANST	30/11/2012	J	16.371388	A company of the contract o
OS-SAL	1410412		JB HI-FI LIMITED	TRANST	30/11/2012		16.371388	r <sub>1</sub>
OS-PUR	1412089		JB HJ-FI LIMITED	TRANST	5/12/2012		16.371388	
O5-SAL	1412088	,	JB HI-FI LIMITED	TRANST	5/12/2012	Y	16.371388	der a contraductive and
OS-PUR	1420013		JB MI-FI LIMITED	TRANST	18/01/2013	There is a second of the secon	16.371388	(数・2,4.1.4) エイト・カライ かたいかいかん 1,07,777.77
OS-SAL	1420012	for any contraction of the contr	JB-HEFT LIMITED	TRANST	18/01/2013	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	16.371388	5218805.6 482940.7
OS-PUR	1422211 1425855		JB HI-FI LIMITED JB HI-FI LIMITED	DEUTMO _	5/02/2013	48,987	9.8535 12.6585	
OS-PUR OS-PUR	1425855	_	JB HI-FI LIMITED	DEUTMO	19/02/2013 20/02/2013	31,961 37,872	12.0585	
OS-PUR	1427996		JB HI-FI LIMITED	INVSEC	26/02/2013	4,685	12,38	
OS-PUR	1427590		JB HI-FI LIMITED	CITIGR	26/02/2013	60,833	12,4127	756030.5
OS-PUR	1428011	.,	JB HI-FI LIMITED	UBSAU	27/02/2013	20,747	12,3127	
OS-PUR	1428011		JB HI-FI LIMITED	MACQUA	27/02/2013	19,082	12.3971	236803.9
OS-PUR	1428255		JB HI-FI LIMITED	UAZBU	28/02/2013	34,348	12.39	426444.1
OS-PUR	1428271		JB HI-FI LIMITED	MACQUA	28/02/2013	12,937	12.3243	159602.8
OS-PUR	1428582		JB HI-FI LIMITED	UBSAU	1/03/2013	4,421	12.6223	55917.5
OS-PUR	1429081		JB HI-FI LIMITED	HKBKAU	4/03/2013	3,182	12.5477	39940.2
OS-PUR	1429010		JB HI-FI LIMITED	LIQAUD	4/03/2013	11,449	12.64	144863.
OS-PUR	1429026		JB HJ-F( LIMITED	UBSAU	4/03/2013	19,541	12.559	245918.5
OS~PUR	1429465	ЈВМ	JB HI-FI LIMITED	DEUTMO	5/03/2013	34,021	12.898	438825,3
OS-PUR	1429398	JBH	JB HI-FI LIMITED	UBSAU	5/03/2013	5,725	12.5272	71865.2
OS-PUR	1429468	JBH	JB HI-FI LIMITED	JPMORG_	5/03/2013	15,901	12.6076	200884.4
OS-PUR	1429823	JBH	JB HI-FI LIMITED	DEUTMO	6/03/2013	2,770	13.480101	37359.0
OS-PUR	1429782		JB HI-FI LIMITED	UBSAU	6/03/2013	20,616	13.4053	276930.2
O5-PUR	1430198		JB HI-FI LIMITED	MACQUA	7/03/2013	5,318	13.523701	71992.7
OS-PUR	1430440		JB HI-FI LIMITED	JPMORG	8/03/2013	60,109	13.6194	820326.7
OS-PUR	1430708		JB HI-FI LIMITED	JPMORG	12/03/2013	22,899	13.8553	317922.9
OS-PUR	1431008		JB HI-FI LIMITED	JPMORG	13/03/2013	30,000	14.0857	423437.2
OS-PUR	1431019		JB H(-F) LIMITED	JPMORG	13/03/2013	8,587	14.0644	120894.7
OS-PUR	1431020		JB HI-FÍ LIMÌTÉD	LIQAUD	13/03/2013	22,898	14.05	322046.6
OS-PUR	1431327		JB HI-FI LIMITED	MACQUA	14/03/2013	10,962	14,5889	160415.2
OS-PUR	1431492		JB HI-FI LIMITED	MACQUA	14/03/2013	10,800	15.252 15.2739	165228.1
OS-PUR OS-PUR	1431701 1431702		JB HI-FI LIMITED	JPMORG MAÇQUA	15/03/2013 15/03/2013	8,100 3,240	15.2739	124099.03 50464.73
OS-PUR	1431702	JBH JBH	JB HI-FI LIMITED	FIRSTB	18/03/2013		15.527799	62110.5
OS-PUR	1431992		JB HI-FI LIMITED	COMMSL	20/03/2013	4,158 1,773	14.891799	26663.4
OS-PUR	1433177		JB HI-FI LIMITED	COMMSL	21/03/2013	2,553	14.907101	38174.85
OS-PUR	1433177		JB HI-FI LIMITED	JPMORG	25/03/2013	420	14.878405	6268.15
DS-PUR	1437015		JB (HI-F) LIMPTED	UBSAU	4/04/2013	12,150	14.8902	181472.25
OS-PUR	1437072		JB HI-FI LIMITED	WEREJB	5/04/2013	8,293	14.7634	122809,36
OS-PUR	1437267		J8 HI-FI LIMITED	TRANST	2/04/2013	3,078	16.641953	51223.93
OS-SAL	1437266		JB HI-FI UMITED	TRANST	2/04/2013	3,078	16.641953	51223.9
OS-PUR	1437358			FIRSTB	8/04/2013	8,370	15.0614	126451.56
OS-PUR	1437381		JB HI-FI LIMITED	DEUTMO	8/04/2013	120,000	15.0794	1811753.71
OS-PUR	1437799		JB HI-F( LIMITED	DEUTMO	9/04/2013	2,700	14.9968	40615.87
OS-PUR	1437800		JB HJ-FÍ LIMITED	CITIBK	9/04/2013	4,280	15,0065	64293,65
OS-PUR	1437801			CITIGR	9/04/2013	8,100	15.0081	121939.43
OS-PUR	1437686			DEUTMO	9/04/2013	183,153	<b>14.998</b> 5	27503 <del>99</del> .1
OS-PUR	1438112			DEUTMO	10/04/2013	8,100	15.1804	123339.34
OS-PUR	1438391			COMMSL	11/04/2013	1,699	15.051601	25651.31
OS-PUR	1438613			COMMSL	12/04/2013	4,422	15.189299	67373.62
DS-PUR	1438961			COMMSL	15/04/2013	8,370	14.9126	125202.28
OS-PUR	1439255			COMMSU	16/04/2013	2,160	14.879801	32239.2
DS-PUR	1442892		and the contract of the contra	MORGSA	2/05/2013	4,715	15.999701	75670.57
OS-SAL	1444254			UBSAU	9/05/2013		16.9523	109982.35
DS-ŠAL	1444529	.,	anna an an an an Amerika Narawa San an an an Antara an a' a' an an An Anna an	DEUTMO	10/05/2013	4,050	17:0978	61101.33
DS-PUR	1445897	IBH ,	JB HI-FI LIMITED	MACQUA	16/05/2013	44,026	17.1358	755194.01
					Trades	1,016,712		<del></del>
	-				المتعدد المتعدد	F 020 70*		
-					Initial Holding	5,020,304		
					Current Holding	6,037,016		

## Appendix B - Details of Relevant Holders

Folder of Interest	Registered Holder	Person entitled	自即則用其 <b>Hölding</b> 等比較清單	Class	Persons votes
Ausbil Dexia Capital	National Nominees Ltd	UniSuper Limited	976,480	Ordinary	976,480
State Street Capital	National Nominees Ltd	UniSuper Limited	127,678	Ordinary	127,678
Alphinity Australian Equities	National Nominees Ltd	UniSuper Limited	333,289	Ordinary	333,289
	National Nominees Ltd	UniSuper Limited	104,025	Ordinary	104,025
UniSuper Management Pty Ltd	National Nominees Ltd	UniSuper Limited	3,077	Ordinary	3,077
UniSuper Management Pty Ltd	National Nominees Ltd	UniSuper Limited	4,492,467	Ordinary	4,492,467
			6,037,016		6,037,016